Name Period

Your task is to decipher this message using frequency distribution. Good luck.

dix dr tzx kxcqdiqg rdk xihpszxkpib tzpqg txgt pq td
gzdm tzx kxcjxk zdm xcgpvn tzpg tnsx dr hpszxk hci
Ix Ikduxi tzx mdkj gtkfhtfkx dr tzx svcpitxgt zcq Ixxi
skxgxkwxj td ocux tzx xgxkhpgx xcqpxk pr mx zcj
mkpttxi tzx hknstdbkco pi bdkfsq dr rpwx vxttxkq
tzxi pt mdfvj zcwx Ixxi zckjxk td hdiwpihx
ndfkgxvwxq dr tzpg scpkq dr kxcjxkq hci skdwpjx
xchz dtzxk mptz hknstdbkcog mptz tzpq vxttxk
bkdfspib






